STRONG SNIVIADE"

EY SAVANT MANUFACTURING, INC.
www.savantmfg.com
A=4 =1/8 x 1x3/4 LONG oval hole #542
clip
B=4 =5/16 x 2 3/4 BOLTS
C =4 = 5/16 Large flat washers
D =4 =5/16 Lock nut
F=2 =1"Plug
E = 4 = 5/16 SMALL FLAT WASHERS

KAW PRAIRE 400--2WD
KAW PRAIRE 400--4WD

J

/ A\ “
= =

i
© @

©~
Kﬁ?

=
1

6¢

A




